V//CANARM® st

HVAC COMPANIES

Part Number

9209 VIB Duct Blower - Part# 9020301

Description

Qty
Required

B

Dimensions

D

R-6030003 Wheel, GO9BD-46-3/4-RH-LCD 1 3/4" 10-1/4" 9-9/16" N/A
R-2100391 Shaft, 3/4 X 16-5/16, 2KWY 1 3/4" 16-5/16" N/A 2 Kwy
R-B-6080002 32232)9 Bracket Assembly, G9 B/B (c/w bearing and ” 3/a" N/A N/A N/A
R-B-8100000 Ball Bearing, 3/4" Complete with Rubber Sleeve 2 3/4" N/A N/A N/A
R-B-3000069 9209 DOOR 2 N/A N/A N/A N/A
R-B-3140047 9209 Vib Base Side LH 1 N/A N/A N/A N/A
R-B-3140048 9209 Vib Base Side RH 1 N/A N/A N/A N/A
R-B-6110027 Motor Bracket, G9,309,709,SIS-9, 9209V,9209-2V 1 N/A 11-7/8" | Type - B |2 HP Max
R-B-7010038 Parts Bag, clip,mtr brkt Hardware 1 N/A N/A N/A N/A
= c ~ TYPEA TYPEB
IL 1
; | ] |
.-a B - - B -
B f =
| | Tveec
1 - B -

Wheel Bearing, Bearing Bracket and Shaft

Motor Mount Platform



Y/ CANARM®

BEST
MANAGED
HVA C COMPANIES
Qty Dimensions
Part Number Description .
Required B C D
R-6030007 Wheel, G10BD-52-3/4-RH-LCD 1 3/4" 11-9/16" |10-13/16" N/A
R-2100392 Shaft, 3/4 X 17-5/8, 2KWY 1 3/4" 17-5/8" N/A 2 Kwy
R-B-6080003 32232)9 Bracket Assembly, G10 B/B (c/w bearing and ” 3/a" 5.716" N/A N/A
R-B-8100000 Ball Bearing, 3/4" Complete with Rubber Sleeve 2 N/A N/A N/A
R-B-3000175 9210, DOOR 2 N/A N/A N/A N/A
R-B-3140049 9210 Vib Base Side LH 1 N/A N/A N/A N/A
R-B-3140050 9210 Vib Base Side RH 1 N/A N/A N/A N/A
R-B-6110015-C Motor BracketG10,310,710,SIS-10,GT10,9210-2V,9210V 1 N/A 13-5/16" | Type - B |2 HP Max
R-B-7010038 Parts Bag, clip,mtr brkt Hardware 1 N/A N/A N/A N/A
= c ~ TYPE A TYPEB
1
i I | |
.-a B - B -
B [l = ||
| | Tveec
1 - B -

Wheel

Bearing, Bearing Bracket and Shaft

Motor Mount Platform



V//CANARM® -

HVAC COMPANIES
9212 VIB Duct Blower - Part# 9020303
e Oty Dimensions
Part Number Description .
Required B C D

R-6030018 Wheel, G12BD-58-1-RH-RCD-LH-LCD 1 1" 12-7/8" |12-13/16" N/A

R-2100037 Shaft, 1 X 23-1/2", 2KWY 1 1" 23-1/2" N/A 2 Kwy
R-B-6080007 3@232? Bracket Assembly, G15 B/B (c/w bearing and 5 1" 6-1/8" N/A N/A
R-B-8100001 Ball Bearing, 1" Complete with Rubber Sleeve 2 1 N/A N/A N/A
R-B-3000081 9212, Door 2 1 N/A N/A N/A
R-B-3140051 9212 Vib Base Side LH 1 N/A N/A N/A N/A
R-B-3140052 9212 Vib Base Side RH 1 N/A N/A N/A N/A
R-B-3180021 9212 vib Mtr P'Form 1 N/A N/A N/A N/A
R-B-7010018 Parts Bag,9212/9218 Vib 1 N/A N/A N/A N/A

Wheel Bearing, Bearing Bracket and Shaft Motor Mount Platform



V//CANARM® -

HVAC COMPANIES
Oty Dimensions
Part Number Description .
P Required B C D
R-6030028 Wheel, G15BD-70-1-RH-RCD-LH-LCD 1 1" 15-1/2" | 15-1/16" N/A
R-2100056 Shaft, 1 X 25, 2KWY 1 1" 25" N/A 2 Kwy
Bearing Bracket Assembly, G15 B/B (c/w bearing and "
R-B-6080008 slecve) 2 1 N/A N/A N/A
R-B-8100001 Ball Bearing,1 RCR/RCSM 2 1" N/A N/A N/A
R-B-3000087 9215, Door 2 N/A N/A N/A N/A
R-B-3140053 9215 Vib Base Side LH 1 N/A N/A N/A N/A
R-B-3140054 9215 Vib Base Side RH 1 N/A N/A N/A N/A
R-B-3180022 9215 VIB Motor Platform 1 N/A N/A N/A N/A
R-B-7010018 Parts Bag 1 N/A N/A N/A N/A

Wheel Bearing, Bearing Bracket and Shaft Motor Mount Platform



v//CANARM® -

HVAC COMPANIES

9218 VIB Duct Blower - Part# 9020305

Dimensions
Qty

Part Number Description .
Required B C D

R-6030031 Wheel, G18BD-52-1-RH-RCD-LH-LCD 1 1" 18-1/2" 18-1/2"
R-2100052 Shaft, 1 X 32-1/8, 2KWY 1 1" 32-1/8" 2 Kwy

R-B-8100003 Cast Iron Pillow Block Bearing,1' 2 1"

R-B-3000092 9218, Door 2

R-B-3180023 9218 Vib Motor Platform 1

R-B-7010018 Parts Bag,9212/9218 Vib 1

Wheel Bearing, Bearing Bracket and Shaft Motor Mount Platform



Y/ CANARM'

HVAC

BEST
MANAGED
COMPANIES

Part Number

Qty

Description

9220 VIB Duct Blower - Part# 9020306

Dimensions

Required A B C D

R-6030082 Wheel, G12BD-58-1-RH-RCD-LH-LCD 1 1-7/16" 18-3/4" 18-5/8" N/A
R-2100115 Shaft, 1-7/16 X 39-1/4", 2KWY 1 1-7/16" 39-1/4" N/A 3 Kwy

R-B-8100005 Cast Iron Pillow Block Bearing, 1-7/16 2 1-7/16" N/A N/A N/A

R-B-3000100 9220, Door 2 N/A N/A N/A N/A

Wheel

Bearing, Bearing Bracket and Shaft






